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%/19 (A)560 (B)570 (C)840 (D)850

<figfr>

10x57=570 » 17x50=850

570<850 » 3 B

2. Hungry 30 is an activity to experience a 30-hour fast. This activity ends today at 8am.
When does this activity start? (A)2 am yesterday (B) 2 pm yesterday (C) 8 p.m. the day
before yesterday (D) 11 p.m. the day before yesterday

<fi#fr>
24+8=32
32-30=2 .
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3. WAlE - BEEEES DT AT? 15

(A)230 (B)234 (C)242 (D)250 \
<S> N :
20-2=18
15-2=13 |
18x13=234(EJF/84Y)
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5. In order to reduce(JE/l*) the burden(& %) on parents, the school has set up a one-hour
interest group service after class. There are 37 people participating in the science and
technology group and the mathematical thinking group. The 11 more people in the tech

group is exactly 3 times the size of the school thinking group. How many people participate
in the science and technology group? (A)24 (B)25 (C)26 (D)27

<BleE> Ty T ESH R EIE > SEACBHILERTE 1 /N N AR TS - SRR N EA R R |
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37+11=48
48+-(3+1)=12
37-12=25 > B o

6. EHEZER  [HEFRMBET - BIIHE 1~4 J—l - [Fi5 ST &R B R eIk R Erm
e e FAafscHE R NERAE R - HEE LRI NS =51 (e A PRI Ui E5?

(A)3124 (B)2314 (C)1243 (D)2143 <>
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<fihi> JookE 2

4x4-+2x4+6%4=16+8+24=48 » 35 C
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JUHEHE > 3% 500 JCAYEPEE 20 5 > 100 JTATEPEE 50 5 > SEREIGRMAERILE T 50 JThEEA
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<fEAfT>
20x1000-500x20-100x50=5000
5000+50=100
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450x8=3600

3600+1280=4880

4880 ZT|=4 ,\T} 880 =T}
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Which ones figures whose diagonals(¥fF545) are perpendicular(¥ H) to each

]
[

[T
1

other? (Points are awarded for all correct)
<fFEtr>
HAagoHEENAZER - BF -~ IE5F -
A~D-F
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<FEAfT>

240+3=80

240%0.3=72

240-80-72=88(E)
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<ffT>
/6+/7=180°-,5=180°-30°=150°
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A1+ /2+/3+/44+90°+ 6+ /7 =540° v \/
4
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L1+ L2+ 23+ £4 =540°-90°-150° = 300°

6. There are three kinds of ballpoint pens, A, B, and C. The unit price of the A ballpoint pen is
$2.5, the unit price of the B ballpoint pen is $3, and the unit price of the C ballpoint pen is
$3.6. Andy bought 15 ballpoint pens with $48.8. The 1 less B ballpoint pen is exactly 2
times the amount of the A ballpoint pen, then Type C has ballpoint pens.

<EEE>H A~ B~ C Zf@EPRSE - A EEPREERE 2.5 7T - BAEEPREREE 3 T > CHEE
PREEE(E 3.6 oL > Andy Al 48.8 JLE T 15 KEIZRE - H B/ | Klair2 AT 2 % -
AVEE C HEERZEA o

<>

e A BUEBREE By x k% » B AR 2x+1 £% » C By 15-x-2x-1=14-3x f%
2.5x+3(2x+1)+3.6(14-3x)=48.8

2.5x+6x+3+50.4-10.8x=48.8

2.3x=4.6 » x=2

FrlL C A=14-3x2=8

7. H—RrRATRIE 7, P = firS A » ST AT RIS T 3 (BB AR HS 2 RIK 3 5%
8 4 (% » EETEMLLE - ZEEAEH 2 AIA 2 5 - SO 3 FR1% » ZATFHELLE
PIRRERAEARHS 2 FIA 1 3 P 3 4R 1% » RATHRIS R 7, ~ PIRTERA RS 2 » AR
EEAIERE 5

<figetfr>

atbtct11=a+8+b+8+2 8% | B3R | i3 R
> c=7 Bl | atb+c+3 | atb+c+11 | atb+c+14 | atbtc+17
atb+c+l14=a+11+c+11+1 FH a a+8 a+11 a+14
>b=9 Z b b8 bt b+14
zJ_rlllerCJr 17=bt+l4+ctl4 ) C c+8 c+11 ct+14

W Efi=7+9+11+3=30
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<fApT>
3x2=6 > 6+5=11

11x2=22 » 22+4=26
26x2=52 > 52+3=55
55x2=110 » 110+2=112
112x2=224 > 224+1=225
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<fEEAT>

(1)328=320 > 265=260 > 139=130 » 989980

Ee %5 320+260+130+980=1690 7T

(2)328+265+139+989=1721
E945 1721-1690=31 7T
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<figfr>

WikE - EE—(E ] B~ Z4a8 SRV EERE

THYBEE=(36+48)+2=42

480+(42+54)=5(/]\iEF)
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